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G ST Gollal) cilas gl allas 0 dwlul) sassl) gag (Jood) Copn Joed!
33s7sell s, )3 sae al Jood) B5ey skl Hlane Guld B aasis
vyl e wilgiw Hlae e o) 12 — 92,50 (e al > 12 o sl

Solarund) o 6.0221367 X 102 Lo g1 e sl o Joal) o i
TGP PPIPSEN | N IO | Y COSEN BUPES | RO O PO -OUN [ JPOUENS | I TL 00N |
PN DX ORI IO RERN B K ROV [ I IPRNEL ), { N [OF EION |

oo 1 MOl 51 6.02 X 108, 44 asengs 33le JS 5o lanad! 2 JS A w
R-1 Jsuad) a5, a3, B wBee 33ke JSI Jreod) pausd) Laliedd) Silecwa)
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Which of the following ratios or conversion EPRRISFRS T - PP T I PN SO
coefficients are incorrect calculations for YKC,H;0; o5l clilaal

the molecule KC,H,0,7

Learning Outcomes Covered

o CHM.5.3.01.004

d.
1 mol K atoms
1mol KC,H;0,
b.l
2 mol C atoms
1 ?nﬂl KC2H302
C.
3 mol H atoms
1 THOI KC2H302
d.

1 mol O atoms
Calculatori 1 mol KC'JHQ Og




Which of the following is the correct conversion factor +_".]'- cilaiadl ate alady sl hgasll ilas g8 oo L L";i
to find the number of molecules of a compound from TSl e dle fpa S pa lgagdan

the number of moles of the compound?
Learning Outcomes Covered

o CHM.5.3.01.003

r
|
a.!
|
E 6.02 x 103molecules 6.02 X 1(]23;;1‘:..1;_7.
' 1 mol
i -5}“"1
'
i
e o o B B B B O B B B B B 8
b.
1 mol Jeel
6.02 x 1023 molecules
6.02 x 10723ty
C.
23 _
1mol % 6.02 x 10="molecules Jsal X 6,02 X mﬂauqu.
d.

molar mass X 6.02 x 10 molecules 45l ASY X 6,02 X 1073 il



Which does NOT describe a mole? Tgall uas ¥ Y L

Learning Outcomes Covered

o CHM.5.3.01.002

A unit used to count particles directly el Slawall 2ad 2233530 50

Avogadro’s number of molecules of a compound Gl ilijal gplagl s
The number of atoms in exactly 12 g of pure C-12 Gl 12 = 08l 12 9 ‘__,E.L,ualh Jgagall lydll das

The Sl unit for the amount of a substance Salall sl ST Aaladl Adsall s2a ]l




wuSally Lo Sha g1 (3> 91 530) Lo naial digmo Y ga (§ 5392 gall Olaguusell 308 Cuws CHM.5.3.01.004.01

LS el

zpresentative particles present in given m

Ol dae apams oy bl o280 Tls Colemain (] Y gud] Jagnd
Calasamlly ¥aell s 33Mall o, Sull cro 3.50 MOL 2 2asgadl o, Sl
= L O T

ilige)) clanwsd! 6,02 X 102 = a1 Cilecwsd) e 1Mol
sz s Gl dalisodl Jsamid) cdlalas (so ol &S liSe (a3l ads plasauls
¥ gelly Sleasd) o a33e

At bl 6.02 x 1023
1 mol

1 mol
At sl 6.02 x 1023

sae 8 aliedd) loruadl sae slow) chiSe puouall sl Jolss plasiul,
alt ) slecwsdl 6.02 x 1023

1 mol
alie ) lensdl 3ae =

dssasll il 8 o, Sl) Jieodl pewsdt ols 4 8D 5 pnge g0 LS
axlow cols g,5) e 3.50 Mol 5 sasesall 55,5 bz (e sue le
Jga=s Jabas ojlicl 5legdl sae plasaul )
395 e g5 6.02 x 1023 X 052 350 mot
s Aol
sasS5 egse 2,11 1024 =

X =¥l sue

awthnnbk

152
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renresentative narticles oresent in given maoles of an element (atomic or molecularl or a . .
e SN | SN B | R LJSE..U ia.g.L'&_a o Ju S35 Lo (Zn) Cpas 3= e e |

Y gal) 2o = Slaswad) aae ZN paie 0. 290 MOl ;8 339594t ZN )5 sac sas

sl 68 das N \
=Y gall 22 =25 mol !
Glaswall dde= Y gall Jas x  guala 98) Jas =l O TR e |
>
Slaswall = dida 5aa g\ oSS\ sl\e s 3\ <) d MOl 3aa g3 LuldS Y gal) Jac
gudla sl e = 6.02 X 1023 Gilaswall s = W gall Jas X JJJL%JE‘Z-SW -
Slaswall o = 2.5 X 6.02x10 =1.5x10
atom

AH20) L)) 50 11.5 Mol 8 55g55ad) cslsad) sue s .2
Y gall 2o = Glaswall e
s ae

i llaall = Glasall da
<Y gall 22 = 11.5mol

Glaswall o= Y gall 23e X gl g8l ae sl e =6.02 x 1023

Glaswal) dde= G gall 338 X g 68 Jae

- e - . - . . » . 24
Glawad) = Adpa 232 \GsASMGsMe I @A it se =115 X 6.02x10 = 6.9x10 $c5a

godasd ae =6.02 X 1023



dnal) Sladla o aas)) dclos 3 (AGNO3) aaall o) oo pasaws .3

Y gall 33 = Claswal) axe AgNO3 dical) olasg sae oS :-’9-4‘-‘-” ei'-b" o0 Aeasiiwel) dalis))
gudla gd) dae SAgNO3 s 3.25 mol 2 339> 9]

. olball = Glaswal) 2
Glaswall Jde= Y gall J2e X g uala 8 2 1

<Y gall 22 = 3.25mol

" 5 = 23
Glaswad) = diua Baa g\ 9 38\ gal\s s o\ < sl e =6.02 X 10
Glaswall dae= ¥ gall 23 x gl g8l dac

e ae =6.02 x 1023 23 24
Glaswall axe = 3.25 X 6.02x10 =19 x10 4 diay

Yy IS YY) ols s> e 5.00 mol 3 i S H) S)y3 dae cews) (g 4

<Y gall A3 = Glaswaldl dae 05,30 AL st e Bylee GruomuaSY
I8 e Glaswal) 3 = 27 02 = 5mol
) Al @Y gall das O =2.5 mol
Glaswal) 3= C¥ gall 23e X g3l 581 dac saa) gl (pawsy) = 2.5 ‘

sodlagd o =6.02 X 1023
Glaswal) dae= a¥ gal) 238 x  guala gd) Jae 24
Glasall 22 =29 X 6.02x1023 =1.5x10 ; 3

Cilaseal) = disa 3aa g\ 9SS salls s S\ @) 2

sodagd e =6.02 X 1023



What is the number of atomsin a 2,50 mol sample of Zinc (Zn)? 20 i 30 2.50 MOl gy 20 i o

Avagadio’s nurmber = 6.02 x 107 K10~ o s

Learning Outcomes Covered

o CHM.5.3.01.004

d.

9.33 x 10** atom
b.

1.07 x 102% atom
C.

3.02 x 102%% atom

i

I -y
e
Ln
e
*
[
%
&
=



9&&&&@@?@'3“@5 D
a. 5.75 x 1024 atoms Al

Y gall 2 =7
Slaswal) 222=5,75x10

Y gal) de= Clasaal) i
pyreg T
24
N oal) s = 5-75%10
6.02x10 23

= 9.5mol

I ) das (g .6
a. 3.75 x 1024 CO,

Y gall o= Cilaswall e
PRTERH S

24
Q\g}d‘ ae = 3.75 x10

6.02x10

= 6.2mol

23

24
23

sudla g8 2ac=6,02x10

b. 250 x 1020 atoms Fe

QY}AS\ LR — ? 20
Glaswall axe = 2 50x10

, 23
s 2ae=6,02x10

QY gall o= Cilaswall dae

4 g8) 2
2.50x10° " -4
6.02x10
b. 3.58 x 1023 ZnCl;
Y gall = Cilaswal) dac
Sula g8l dac
23
Y gall 22 = 3.58x10 = 0.59mol
23

6.02x10
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Textbook + Figure 6

u;:ﬁ."}';‘;j tlisss caoliesS &,as B Jess bl 0F) (o208 AES J) Jee (re Jueaid)
' liglae Sylangdl Jia cewsd calS L S5heeS Jelas o), o¥ (CU) wised) e 3.00 Mol J)
i gty d) DRLRERY o=t g sivias Jamands o3 Seg il o golimy @33 cmilag3a 5. (Jle

O e Lgwldy aslS, alis

Wlms e 0hs @255 a2 ol Jadas)) alasl s
191 g SN | p.‘t 8> yua L&:}g A.._-_u.:-" P,J:..JL., -lo )
B ]| [ sy = L5 7 T s cWe i ase

Joo 1
29 a3 saial) gag qolomidl &} asmiad o) Jsasd) das) e =eB I3l
/) Ls juaua) dded) al:SH o alas iy .63.546 amMUu golus ay,idl azlzs
o wulsal) ddesd) alaSh Hleaile, (@MU susg) 25,00 xS gols (Mol

ool e 3.00 MOl Josss cliSe cadsad) aliS alasaul, .63.546 g/mol
63.546 g Cu
3. x = 191
00_metCu Cu g Cu

Bollasll Lulsd) o 3.00 Mol uls cliSe, 7 JS 31 5 ndse oo LeSs Jd3)
O maSall besal) el 5o 191 G (wbad Glias plasaul Jelazl) o) =¥
0S5 Jesms Jolas Lajlaels adoall aliSh Lle Lasi Jozio—c¥sas J) aliS
Sad) pangs cliSe o Lades)) alaS)) alne pasain
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What is the molar mass for nitrogen element N?

N oo gl jemialddd el Al L.

Learning Outcomes Covered

o CHM.5.3.01.004

HYDROGEMN w " HELIUMN
1 Periodic Table )
H El He
ements 1-
1.00 1 1 8 4,00
LITHIUM BERYLLIUM BOROM CARBOMN MNITROGEN OXYGEN FUORIME NEON
3 a 5 (=] 7 B8 = 10
Li Be B C N Q F Ne
6.94 9.01 1081 12.01 14.00 15.00 15.00 20.18
SOoDIUm MAGMESIUNM | ALURAINURA SILICOM PHOSPHORUS SULFUR CHLORINE ARGON
11 1z 13 14 15 16 17 12
Na Mg Al Si P S cl Ar
2300 2431 2898 2809 3094 32.07 3550 4000
28.00 g/mol

16.00 g/mol

32.00 g/mol
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s and vice versa Textbook+ Example 2 + Applications

Sls 8 pasain sl jaie gay (CF) 25,80 ALS J) Joo (o Jaga)
.=lal b 0.0450 mol Cr alis st  JSE daglaed clad) chlowy wsljlall

Dl Lt K

ol Joed) Sie cro JBT dncal) s L gread) Joamd) e e, SU adsld) aliS)
adaod) ALSH Lt o JB) 0S5 o Gaen Ly
J 9ged! polagd!

?g = Cr aLs 0.0450 mol =Cr <=¥ssl) sae
52.00 g/mol =Cr aJds.Jl al:s])

Jogael) ol
N a8 E¥s Jsoi Sill—idsdd) AliSH gag—ssmd Jalas alasui)

Jod) Gle Juasls Asladd) (3 aaslas)) mall gode -dawdl Bls 3

Cr lel yoo = —————— X Cr =u¥s5s
et Jolaoe Guslald 1 mol Cr
0.450 Mol ladies (asgailt 0.0450 mebct x 2200 9CM _ 534 gcr
Cr juaic <% ggd 1
Adeedl alzsy 52.00 g/moly
dgudy s .Cr aial — -
REN NP ¥ L¥) s



<Y gal) 23 = mol
ansl) = g

Aty = g\mo|

Y gal) aas = Adisl)
4l gal) 4li<Y)
o Lo S ole) b aliS)) sas 5
a. 3.57 mol Al
ansyy = 7
<Y gall 33 = 3.57 mol

C¥sall axe SALSY 0 e 3.57 AL
2 galy ALich) 7< 26.9

sl =3.57 x 26.9 =96.09

a. 3.45 x 102 mol Co

2
<Y gal) o = 3.45x10 mol

4l gal) A1sh) = 58.7g\mol
Aty = ?

Y gall das = 4lig))
ALl gall Alast)

—— 3.45x10
\/< 587

-

alisl) = 2 .02x1 0

4l gal) 41l Al =26.9g\mol

b. 42.6 mol Si
ALl = Y gal) das X 4l gal) 4lu<))

J Al gall A<l i = 28g\mol
Y sal) 22 = 42.6 mol

AnSl) = Y gal) dae X Al gal) Akigl)

sl = 42.6 X 28 = 1192.8g

16

.. AT ST -

b. 2.45 x 1072 mol Zn
-2
oY gal) 22 =2 45x10 mol
34 gal) A<l =65.4 g\mol

Al = 2

Y gal) dae= AL >
#..a.'l_g.nll 415<)

2 .45x10 = sy -

7§ 654'_>




aSally d5Y g0 d8ymas La_naial (phasdl) AsS Cowse CHM.5.3.01.004.03 Wiyl + 3 Jia + QS o

es and vice versa Textbook + Example 3 + Applications

L*:IA E_,ng] s pa ,_l.u.nl:'-.Jl _,..n.'n_IJ' .(Ca} 'ng.._._uaJlj.” ‘J_’-l' ‘_’J! als e *3@-&“
LY PS .L;.nLn.'._” L.TLL ::L_.JLL” d:'r_;.'ij ity 1,_5.)—";"1' _,..a;_‘._c =a i_h_"h.:.q Lz:'ll.-"l Ag>009 4u,'n_;f]
‘525 g Ca L*Jj Ell‘lg_‘:-g.aJ' 'ng._‘_..quj_”' {L'gs.q

dlied! elons
aliS agewllSH o ¥se L) aounlSI) QLS Jagms Clile iy
i Ble¥) old (Jlbs adse)) alsS sl 3, fe o L3STs LuS] pouIS))
J 9d->0d! @ slagd!
mol € = Ca ¥ eel! dus 525 g Ca = alsil
.40.08 g/mol = Ca aJds.l al:si)

Jsg>el) ol H

poedlSI Slol i Joo Lill—adedl) aliSI) Caglia gas—agos Jolao plasuiul

it holae Guudad Ca:.'zy=1mclca X Ca alss
Ca 1L1Lq|_,_‘3-

Ca = 525 g. alisy o eait 1 mol Ca
pais) ddged) ALK aglieg 20 FEE X 40.08 g-€3
— 2 Ca = 1mol/40.08 g.
i laom gdle Mae W) dgwudy

= 13.1 mol Ca

159



(ol Les JS B o¥sd) sue s A7
b. 3000 gS

Y gall dae = ALKy
4l gal) AL5gh)

a. 25,5 g Ag

Y gall dae = ALkl

4] gal) ALigY)

i<y = 25.5g

Ca Sl A gal) Al) S = 32 g\mol

ali<l) = 300.09
Y gal) dae = ALK
4 gal) Alist)
<Y gal) = &
gall 22 35

=9.4mol

.g-’.o_l_'l_l' FOW |
b. 1.00 kg Fe

i<l = 1kg = 1000g

Laall 44 gal) Alisli=Fe = 55.8g\mol

QYJAJ\ S = 413<1)

4l gal) Alugl)
+ - 1000 - 17.9mol
a4 | T e,
HHEE= 558

oY gall 2ac = 25 5

duzaidll 44l gall Alisl) Ag = 107.9 g\mol

Y gal) Jae = Algl)

Aal gal) Al5gl)

= 0.2mol
107.9

a. 1.25 x 103 g Zn

z 3
) = 1.25 x10 g
Oma Al 4l gal) ALY Zn =65.4g\mol

Y gal) dae = 4l
Al gal) Alugt)

3
ey galy sae = 1:25X10 = 19 1mol
65.4



How many moles are in 19] g of Cu?

T0U (e 191 g 3 aynpe Vg S
Molar mass Cu = 63.546 g/mal 63.546 g,.'mnl =Cu 3 ddeall AnSY

191 gCu

Learning Outcomes Covered

o CHM.5.3.01.004

d.
4.5 mol

b.
2 mol

C.
1.5 mol

P R R R R R
d.!
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or compound given moles and vice versa Textbook + Example 4

oS ladly camall ulowd)) sgua) culsla Lens ol degess ) (AU) Cadll ot @3 ) AES e Jagsad)
931.1 g Au ‘:ESL“E LgalsS a3 alc L_:'E dag>ga)l Lalil) )5 sae

Wled) Ul ER
sde ) aliS o Bflie Jogmall claS ¥ o¥ iadl) g dogles alsS L3 )il dae apass clde oy
oo 3ne ) el Jagsis o8 ipd udgel) ALSH alascul a¥aa ) 2SI Jipss ¥al clle sy it il
sl adl
(196.97 —aldl o adsed) ALS) Guas Lo,35 gslas Gmadd) aleall (s doglaol) LIl g sl s8] sue alusul
aoaleadl sue i Loy 555 o) e cwadd) byl sae yle JLbs .g/mol)

J s | ‘.’.I.....Il
€= Au ol ;40 sas 311 g Au = als)
196.97 g/mol Au = Au 2.l al:g))

Jagrol) olus H

1 mol Au

gt Jobts (idad moles Au = grams Au X Au alss
2 = .. 0 - 1 mol Au
ddged) ALSH aglisg Au = 31.1 g AL, s gaz)l 311g X ————— = 0.158 mol Au
Mae ¥ dewdy . Au = 1 mol/196.97 g wails o8 196.97 g Au

<l aa-glly 53l a8l aue o2 el il G sl cadd) ¥ s Jasead
23
s el lolas dad Au ol s = 6.02 x 10" atomns Aux AU =¥ s
1 mol Au
23
0.158 mol A x 002 X 107 atoms Au_ ¢ 54 102 gtoms Au

JAu = 0.158 mol ¥ g gasgaddl
cukaedlg

1 mol Au
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lations using the mole concept, mass, molar mass, number of particles Textbook+ Example 5 + Applications

au ) s e salgns eils alalsd) aleedl =5l e (HE) aguly)) AliS (J) ol s (e J,',a.:.n
Aol 3 paedegl) memy o) %) Lls 50 dadsl 5,6 @osde e dadsdl Juad gy - olieels Lialzsis
Snslal 2l ageligl) LS o Lo aseligdl 5Le ly3 g 5.50 X 1022 le co¥laza¥) ool soimm alslull

Wl L K
o wo¥ae ) il sue s o2 Fgl Ll ALS Lalas Glde casug pselegd) 155 sae chad aglas
N P RS | RPN | I P
Jadgoe 1-,1--.
¢g He 9= sy 5.50 x 10?2 atoms He = =l,ill sae
4.00g/mol = He ads ) alzs))

U PWE N | N v
D¥se ) @bill sae Jasis psiy gill—g;alrdl sae Coglas—figas Jolas pasil

1 mol He
gt Jobag Guclal mols He = x atoms He
He : 5.50 <l it saay i gald) 6.02 x 10?23 atoms He
Macl dpudy s lyd X 1022 1 mol He
“lam ity 550 x 1072 atamsHE X — 0.0914 mol He

6.02 x 10?3 atermsHe—
Lalis L’J! Ibg._J_._-.d-” W ge dde (g 1‘3':':‘ ‘ﬁ.\.”—'n._’._.]._..d.u E#JHJI aliSll— bass  Jalas el I'j cAS L) sgla S]]

He =iLs
2 R——— 1 mol He
Jie = 0. MOl 2% gl Jdns (s gall) 4.00 He
He = 4.00 g/mol i get! AL 0.0914 metHe x % = 0.366 g He

Jandly



Y gall Jac = 4ligl) fadll) wlasl) S8 s3g3sel) I,A) sue (S 19 Y gal) Jae = Claswald) dac
41 galf AlLigHy 55.2 g Li .a 9uila g8l dac
wglball = Glaswall dac ?
Y gall dae = Glaswall sac - 7.8 = Cilaswall sac
il g8l dac s = 55.2g 74 =
23 & a3 < N
; guiall 441 gal) 4lish) = 7g\mol 6.02x10
> siasil sae= 6.02x10 A S gal - 24
Ia\.n_.!......-,u.l'n Y gall dac a3 Y ga das ) ALS)) J gas Y ) Slazuad) sae = 4.7x10 3,3
Y gall 2o = Aligh)
: A gal) A<y
QYJ-AM QAo = 55-2 — T.Bmﬂ'l
7
4 a 0.230
ol ol RS e o =31 A A = alagh) = S5 = 0.001mol
Al gall Alug))
Tadll) cilaal) LB 339390)) 1,30 sace RS 19

0.230 g Pb_b

i pllaall = Clasceadl sae = il Al sas

‘ [ T
JJJ'—‘.'-J%
S gall 2216.02x10
Al =(0.230g '

A48 gal) dtngt) Pb=207g\mol

Gilascaldl sae = Y gall dae X 6‘0211023

23 20
cilazwall 33 = 0.001x 6.02x10 = 6.02x10

&3




11.5

- g - ge " - aLigt) - =
SlHadle ALESI) s g e gall e = ————— = T3] thibamo
3!:11_’.‘1'! FRi]]
Tadl)) wlall B 3asagel) Sl sac @S A9
11.5 g Hg c
i gllaall = Cilacasdl sae— ol A e X guala g8
Y gall das &

il = 11.5¢

i galt Ay Hg= 201g\mol
23
Slaceald) sae = oY gall e X 6.02x10

23 22 . A gal) Atig)
Glasal) 226 = 0.06 x 6.02x10 = 3.6x10 53 s adne! Lo o
mol g\mol

Sobol,adl b Leo JS aliS Lo .20
Bi =i1,5 6.02 x 10%% .a

Y gal) dac = Claswall dac

sodla bl axe

ALS A Jga 0 ad Jga (A Clasaa 238 e Jagad 6.02 1024
. - CYgall 2= 0.ULX =10 mol
[l ) — 415<)
peiiem 00 6.02x10 23
3 gal) ALigly
Y gall Jae = Claswal) das Y gal) dae = ALY
Sl 58 4;; 4l gal) Alisl)
Slaswal) das 6.02 x 1024 209 :

& ga juall 4l gal) 4Li<l) B = 209g\mol



&y il ALEI) (p Jagacd! AL = Y gall 300 X Al al) AL

o

Sl ol b Lo JS LS Lo .20 g = L7 X 55 =935 ¢
Mn =l,5 1.00 X 1024 b

pllaal) = ALY JJau_Jéé

. 24 N sall 222 6.02x10
Qigidh 22 =Mn =1.00x10 = claall s '

4 gal) A< M= 55 g\mol

23
Nl 1 = Glaswal) aae _ _1.00x10 = 1.7mol
6.02X10 23 6.02X10

e gal) dae | Aud gal) ALY

mol g\mol




Gl il g S o i gt
Selol ol b Leo JS alsS Lo .20
He 1,5 3.40 x 1022 ¢

o

o gllaalf = AkgY)

2
il e = 3.40x10 90 o clgeal s

il gl Al He=4 g\mol
Glascall 2

Y gall 222 = =
6.02X10 23 6.02X10

ALY — Y gall a3e X AL gal) ASY)

s = 0.06 X 4 =024 ¢

22
3.40 x10

= 0.06mol

JJ-“A.J%
<Y gal) 22216.02x10

Y gall das | Al gal) ALigt)

mol g\mol
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wveen mass and moles of an atom Textbook+ Figure 8

number of grams //“@‘ 1 mol
{ A

number of grams ' / 1 mol

(=]
1 mol o 6.02 x 1023 particles — e —

1 mol S 6.02 x 1023 particles

g il a8 2 LD | e PR O

SN EORI S TN DV O 1) IRV IFONORS | PRS- CL.4 | IECURNY PPy || 2 @3S ,e) sassl) sa sl B JS 2 =

wleriind) o unS dlaules ¥ally (Oliee ddasles ALSI JiS eSS B N PRI [N |

Jramzd poadas "):_-! oallas . uSI fhe s ,_=,.'..” Sboaisad) ala ilas aliod) slovusly
couSal) o) altee Cilacws J) alzSI) d

(098I 15 e sy dns e soima CCIF: po wilbose aw; 9 JSadtm B SAl il gai S
gdal) el e plas s e lSI) u) 3 e lansios Textbook+ Figure 9
Tmol L‘._n_.'i_z “ég‘.'n_"h._!_ ?ﬂ\—_,ghl\g 4_,5."1.53\5 a;{_‘g.!_,s..'ﬂ—'ts.\ JS. s.“_-.\_}h 3 95 E—ml
RCCIF7 ya

Adla S diiall (§ il 03,01 4l ado e Cias CHM.S,aiﬂi.DDS.UBL




ouSally ¥ ga elhae! die b wSha g naie (3 bl sde Cowms CHM.5.3.01.004.05 QS gl

sl ¥) alsdl sakell gy bicasd¥) o Lo WILe (AIZ03) paud¥) sasl ddeall ddad pol) Jood! olidle
AlO3 e 1.25 mol &,.l

Al Liss B
L:;g,.'-aug AIEOQ o .J‘g.n .JS .AI:D} ¥ gag AI3+ Qbﬁi (ST U S WO = i._l:'ll._n...‘hj.”' R || UJ.I: dgiag
J ) ing.l.l...”
7 mol AP ions = &Y aed! 30c 1.25 mol Al;O3 = =¥l sae

Jsgoned! > H
o= Jalas 2SI APRY cibgl ga 2 MOl Lo 930 Al203 o 1 MOl 233l pasil
2 mol AI*+ ions
Tmol ALLO,
asall Jolas (3 ol ABY bl w¥50 ) ALO3 ci¥ge (e psladd! 3] i

2 mol AI** ions

A0 S ) ¥ as dis g AP Silise] S¥ g das S dos g ugand helas £LIS)

= e i 3+ :
cdeaed) alas Geslad moles Al,O, X Tl L0, © moles AP’ ions
AlLO3 = 125 mol Al;O3 <% Pt 1.25 mol Al x 2 mol AI** ions _ 2.50 mol AR+ ions
=3 S ' 1 mol AL@ ;
ol gl Jusmsmly

LX) s
AlO03 ¥s0 suc cani Bla¥) L8 23520 s LSy dsesall suspll Ble-¥) e ezl @

la4
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Textbook+ Figure 10 + Applications

pasis i) plonlll i pes b pasiia (ZNCl) um i) s 6lS .29
2.50 mol ZnCl; 2 CI- esbigs) ¥y s ioas) Jagee gl Leg ]

g 22 ZnCI2 = 2.50 mol

Y g4 Jde Zn+=-g 1x2.50 = 2.50 mol

cNga s Cl= 2x2.50=5.00 mol

el QS pall Jala cligh) SN ga a0 = Qe il aae XS pall Y ga i

Adlal) Vjamas olacls (COH120ﬁ) 35 gl U.Lc S blgsdly bBled) ozl .3C
1.25 mol C4H1,04 u—°' e S ca¥go dde )

C =6X1.25=7.5 mol
H=12 X 1.25 = 15 mol

0=6X1.25=7.5mol

asle US ol s 10 JS o) @

oo dalises glesly slacl Lle PE
alisee adsed) LS ola .o,
Eoemmo oo S JS adsa)) alis))
bele oo ) mabial) JS JaS
el




aas adee 8 Bl ausais [Fe2(SO4)3] wasd) (11D Lasd) ols .S .31
e 3.00 mol Lgﬁ 539>gd ln ST ng._:i ¥ g0 dac das> .cLJ)
.Fez(SO4)3
Fe = 2 X3 =6 mol
S = 3x3=9 mol

O=12x 3 =36 mol
Lo ShmmmEs, 51001moal 0 839750d) GumwSY) 155 S¥se ae @S .32
?(PzOS) )9.21..»9.&‘ USL.B

P=2X5.00=10 mol

O =5 X 5.00= 25mol

uﬁ ‘_).‘_7-9)_\...&' c_>|)3 c_a.g9_o Sl m’ Gm 33
olad) seaml) alasaul ¥ ge e eld) oo 115 X 10" mol

1 = slall
H=2X1.15X10 =23 mol aE'S

1
O =1 X1.15X10 =11.5mol



.g;}ﬂi e Srae |3 2dael) @58 34 .34
a. NaOH b. CaCl, c. KC,H50,
NaOH= (1X23)+(1X1 6)+(1#(1) KC2H302=(1X39)+(2X12)+(3X1)(2X16)=
- CaCL2 = 98g\mol
40gimol =(1X40)+(2X35.5)
=111g\mol

mmment (A Al ASKS G pia AU jeaiad) &) 3 232) 4 (s A AGKS Qi JgY) paial) G 3 dae) = S sal A gal) ALl




N:‘f,“f “0,3 Jsligimol i weSia ST el @K sl 35
CL =35.5 a. CoH;OH b. HCN | €. CCly

c =12

H =1

O =16 C5HsOH = (2x12) + ( 6x1) + ( 1x16) = 46 g\mol

HCN (1x1)+(1x12)+(1x14)=27g\mol

CCl,; (1x12)+(4x35.5)=154g\mol

i) 3 .959;’ Sy0 pl i S e colS 13) Led aale US cais (guand .36
cidgol) LyzlzS
a. Sr(NO3)2 b. (NH4)3PO4 C. C12H22011

STINO3)2 = (1x87.6)+(2x14)+(6x16)= 211.6 g\mol (i)

— - )
(NH4)sPO, (3x14)+(12x1)+(1x31)+(4x16)= 149 g\mol (5)

Ci2H22041 = (12x12)+(22x1)+(11x16) = 342 g\mol  (c452)



Using the graph below showing the numbers of atoms by shel maag 3 sl Sl Al s

of each element in a compound. €l aaf ‘.Jl peals €
What is the compound’s formula? Tl Lo e
Sl G
The Compaosition of a Compound

das

O

g 23

Ban gy E 1

b 0

Learning Outcomes Covered

o CHM.5.3.01.001

[ .. S N N SN S R O N SR SN NN NN R NN N N SN N S N RN S A

CaC4HgO4

P - - - -

CaCoH309
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sa Textbook + Example 7 + Applications
) atlesS s3ls &l o 251 o8 s e (HSO4) el 801 g oo ,280) atlee ) lelial) qas 37
H,504 (e 3.25 mol ks L G S L dlyin) o pl i) ddl ) LS ) o ALS ) Jse O agandll
H =1g\mol H2S04 it ‘ S(C3He)S g 250 Mol s o Lo [(C3Hg)sS]
=t 9“:'4.‘.1

S = 32g\mol ' ilusell Julos

O= 169“’“ ol 3.25mol =Yl 2 Lolitebs adpull A8 plasinly AL ) ¥l gt e ummy (CaH8)3S o 250 Mol bl

. - (CHS 5,01 3 poliall gl 2l ) game (o il 2SI oy Joles

) ad gall ALIH2S 04 =(2X1)+(1X32)+(4X16)= 98g\mol Poer e

Y gall de= ALl 2 9/mol (CHg)sS = il gl AL 250 Mol (C3Hs)S = c¥ell sue

Al gal) ALi)) 7 g (C3Hg)s$ = as|

Jaed wlu> B

325 = L)) 41l = 3,25 x 98 =318.5¢ AC3Hs)sS el ady) i)

98 |_> gl S S B o yell S e 1 ok X 3?';;15:32.0795

i gad! € AES b oS ol (3 C ¥t b 6 mol€ X 112';:)?;: =7206gC

1008 gH

el ged! H S 0 Syl o H 80 b 105|.0LHXW=10.039H

AL pd ) (3207 g + 7206 g+ 10.08 g) = 114.21 g/mol (C3Hg);S = i gadf AL
il ) ¥yl Jyog giladgall A fpgos Jalaa ol

rams (C4H:)-S
APCT I PRTI. moles (C;H),S X % = (C3He),S alis))
L}
Lpall 281 (CH5),S = 2.5 mol. it pally iy ptl! 114.21g (C,Hs),S
Jodly (CH)S - 11421 g/mal 290 MOLESHERS X —— s 286 g (C;Hg),S



U ZNCLL) raan 1501 &a 5015 Gia 43556102 'mMol 3N L. .38

Zn = 65g\mol
Cl = 35.5g\mol

4l gall ALisl) ZNCI2 = (1x65)+(2x35.5)=136 g\mol

QYJ.AJ\ A = 413
2 5l AL

2
4.35x10 = 4y :> Al = 5 9g
>< 136

lel,m Il S, e 2.55 Mol alsS s ) @8 agewligd) clisio pd a8l S dical) oS (gdand 39

K = 39g\mol KMnO4
Mn = 55g\mol
O = 16g\mol

iyl gal) A1 KMNO4=(1X39)+(1X55)+(4X16)=158g\mol

Y gall dac= Alagt)

4] gal) Alicl)
2.55 = Al > iy = 402.99
158
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Textbook + Example 8 + Applications

Ca% cbissl o palsall clodl e all3) 35 D)) illass o dasiad) palall Shile o Cap S seaS]
Syl 30 325 G 3 5352 0e)) pauallS) SuaSysiia Vs i ceas] . MGZ cibisl
Wl S K

LCa(OH), = ¥sd) sae sbow) clde Csug CalOH), s 325 g cbu)

CalOH) 2 i8S ,5U alslatish cabias Vo) clle Gasy

Jeganed! @ gl !

? g/mol Ca(OH); = 4 ged! ALiS)) 325g = Ca(OH); aLs
? mol Ca(OH); = Q¥ eed! das

Josgael! wluws> H
CalOH)y S oll algal) aliS)) sa

.ZgJ,‘J!CalnS?bc,.S,A!?ICaa'lyauy,é 1rn/ol,Cax 5_19;:'_8_9_(:_3=4o_039
i ~ ” : ; 16.00g O

At ged! O ALS 3 S el B O ¥ ge due iyl ZmoLOx1—=32.OOg
1.008 g H

cadged) H ALS B S pedl B H S¥ge 20e b qul_Hle=2.0169
AL pd e (40.08 g +32.00 g + 2.016 g) = 74.10 g/mol CalOH); = & gl AL
S¥sa I Slel ) Josw g ill—adsdd! aliS)) Galae—hoss Jolao plasil

1 mol Ca(OH)
Ca = 3259 ALK (hsea)l .Jagail! Jolas Gead 325 g CalOH), X 4':'(;’ ce 2= 439 mol Ca(OH),
(Ca(OH); =1 mMol/74.10 g dul gl AESI (ule 10 g CatOH),

o (1 PH =Sl e A g




Ag = 108g\mol H =1g\mol

N = 14g\mol Cl = 35.5g\mol
0 =16g\mol  Zn = 65g\mol
a. 22.6 g AgNO; g S = 32a\mol

Ad sall ALl AGNO3=

= (1X108)+(1X14)+(3X16) = 170g\mol

ae Mol
Y sl

A<l = 22 6g
<Y gall 222 = L)
4l gall A1)
Y gall 220 = 22.6
170

<Y gall 222 = 0.13mol

b. 6.50 g ZnSO,4

Al gal) ALY ZnSO4=
= (1X65)+(1X32)+(4X16)= 161 gmol

a<ll = 6.50¢
<Y gall 22e = ALy
4 gall A1)
Y gall 220 = 6.50
161

<Y gall 222 = 0.04mol

WSe S \:,ﬁ se>mgdd) ¥addl sae sa> .40
c. 35.0 g HCI

43l sal) ATl HCL=
=( 1x1)+(1x35.5)=36.5 g\mol

A< HC1=35.0g

Y gall 2 = L)
RPOPAEN]

35.0
36.5

Y gall 22e =

<Y gall 222 = 0.95mol



[ 167 mm]

a. 250 kg Fe;,03 gl oS 5

e

Jac

S\ = Adgal) ALS) = (2x56)+(3X16)= 160g\mol

2 23
/ oY 5a) 6.02x})\ )
Y gall dae = 4ligl)

Al gal) 4L1g])
<Y gall Jae = 2500 - 15.6mol
Al 160
g
e mol| arsy ESU kg X 1000 =2500¢
<Y gall a5l

daglagl) AL (hosis p3s i S0 pl gl S e asliels 2L GLS ) e JS Cais g (41
celal) jao,al) plasuul cbbls) ge e ca¥0 )

) S ye

b. 25.4 mg PbCly —

\z
44 gal) 4Li<l) = (1x207)+(4x35.5)= 349g\mol
mg

<Y gall 2ac = 4ligl)
40 gal) ALYy

CN gal) as = 0.0254 _ 7.27{1-3 mol
349

[ 25.4mg =0.0254¢
1000

1000 —



What is the mass of 3.25 mol of sulfuric acid H,S0,7 tH,S0, dli &N | caes s 3.25 mol dkS L

Molar mass of H,SO, = 98.08 g/mol 98.08 g/mol =H,;S0, J il 4ol

Learning Outcomes Covered

o CHM.5.3.01.004

i 3199

159 ¢

478 g

6379
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ons using the mole concept, mass, molar mass, number of particles Textbook+ Example 9 + Applications

aplastl sue plasi (AICIS) pscdd¥l si5l8 ilpmsa () B g0 ] ALS (o Jaganal)

LA RVRPY PP T PO PRI 0.267 molL AdEty X 35,6 9 solis LaliS pasad) 3yl
1 mol A€ty _ e
23 8539 gd! I""'""'J?I ibg) aae 5 L2
A|CI3 da.-.nJi ';'Lu'-’ 1'61 % 10 = Saspesdl 3,508 gl sue o -b
H % g 5 A el B TP | I W cals "
Jigsd )lslas Lajlael a8l S diiall s ol Ih.l.'i..'...a'l dCl_ 8 AI3+ cbial sie Olusd paci 11 essl e ol Aoasadt ¢ oplomll. ALl Ss &
3 AP Llagt e WL
1M Jisondl! olales o 28beesSh) dieall oo coiilly gsalegdl saey 2yl 2l AICl dins samgl wlol ol akiSh)y CI-
o - ; 3 o 4 - i 3+ e P
- Ry b e Aagusd) alae ¥ L0 (Adbs 13 Lo sl a3 CI™ byl J) Al wilsand o sl caaelbad)
= 161 % 102 AP* ciig ity 5o tgl) Rigadt sasg) AEEN guias dualls 8% o iy
s sl oalis fsae 0855 Lag
23 3 CI gl
olasglly alie) dpidy s 161 x 107 AICH; 45, P, Jsgaed! polasl!

TAICI asualis AR Glgl= cbal sus 35.6 g = AICI3 aks

701~ ab£i= aﬁﬂsﬂ e

= 4.83 X 102 CI~ &byl ? g/formula unit AICI; = 2GS
9 B i b sif e i b Jogaell ol H
plis pasial AICK o suslyl) dall sasg) bl 2l ALS)I +_:._..=.I S el g Al it g s Rl el (T
hsos Jalaa o liicls gyslgdl sue Al pazald ddgelt LS 0
2698 g Al
A R GAEL : 13333 g AlCI, ’ 1 et o2 Sl B Cl el S¥g b
. = 133.33 g A% pausad Cl paiall idged! & 35.45 g Cl
oy AICK:= 113:10 g 8 Oy Tpe 602 X 102 tiall clioy T PeEd 3 moker x 220 = 106359 Cl
=221 x 10722 g AICI?"M‘-‘:‘"‘” ey Jideed) WS pd Jlea)  (26.98 g +106.35 g) = 133.33 g/mol AlCl; = &gl alisy)
¥ge J cilel ) Jao gidiidadd) AlSH Ciplas— biged Jolas alasuul
) _ 1mol AICI, i
sl folag Gadad AlCl; =¥y = AIC|, ol x AlCl3 abk:s
AL caglieg AICI; = 35.6 g Alisy (b gandl imol AlCI;
.Joudlg (AICI; = 1 mol/133.33 g adeed! D6 G X g A, 9267 mol Al



ol adals o Lo Llleg cJosd) pam 8 Lels) o2 (3] 35350 jslas (0o 525 (C2H5OH) Jailiny) .42
) ) 456 g Jssli¥) e dnpal) AliS golus

C =12g\mol Sarall Lgele go1o0 ) (2,80l @ly5 sae oS .

H=1g\mol S sl apniaal) eslss sueaS b

0=16g\mol Siagamaell oSl Eily3 Siie o8 LC

oY gall 2ss 23@}&1 A<IC2H50H=(2X12)+(6X1)+(1X16)=46g\mol
= 2X0.9=1.8mol Cagal) 33 = L 4
> Glasaal) 3 = 1.8x6.02x10 1.08x1022 4CZH50H i gl e = B
H = 6X0.925.4m0l "> cilasuall 3= = 5.4x6.02x10 = 3.25x10 5 ; Adyall Al
& - 456

0=1X 0.9 =0.9mol = cilawal sx =0.9x6.02x1 §3= 5.4x13 f' g Taall 436 = T =0.9mol

23
E;,u....e.n ae= OY gall dae x5 ila 8 J:E][M.ﬂ.-,_,é'. 2£=6.02x10 ]




2.25 g sl (NazS03) psespual) oy S e dnall AliS .43 N g =23g\mol
5395 90! Na™ |_:.r|::5,._:i SN =S .8 S = 329\'“0'
S538>0all SO3%™ cibyy) 342 o5 .b O=16g\mol

TNaz503 oo saslsll ddeall sams) plall A5 Lo o€ 4 gal) A1) Na2S03=(2X23+)+(1X32)+(3X16)=126mol

Y gal) 2ae = Al Na = 2x0.01= 0.02mol
340 gal) AkigY) S = 1x0.01=0.01mol
— O= 3x0.01 =0.03mol
N gall dae = : = 0.01mol 22
. 126 Slasual) Jae =0.02(G.02x1%3= 1.2x10 o5

23 21
Slaswal) 32 =0.01x6.02x10 =6.02x10

22
3 22 :g =2.4x10 5
Cilaswal) s %.0316.0211% = 1.8x10

52.0 g sslus LszlzS (COZ) ysu,SM) sewaSl 5B (o dnee .44 C0O2=44g\mol

T3sxsall 0e,S B3 2ue w5 -8 (1X12)4(2X16)= 44g\mol
Sasgge)) CrumanS¥) (23153 sac oS .D

<Y gall das = 4ligl)

23 23 b
C=1x1.2=1.2molx 6.02x10 =7.2x10 5_3 Y gal) Jae = 52 =1.2mol
44

023 22
O =2x1.2=2.4 x 6.02x1 = 1.4x10 52



oiSally (52529 b aal) Lo CSha oy Lipne ALS § 53g2-galt Alianll Colasuuzdl 30 Cowme CHM.5.3.01.004.10 il + 11 JSadl +HOES! jai
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o Jasl) . Jsell (555,e)) gnsl) das¥ 11 Y id) ®
/ﬁ. olSe ) ) abaseedl Glel o) iomes o) Gl (re
5 = Molao L35 . Jsells sgred) clile Cimy oy
elym¥ aay;M) Blusl) paw¥l Jle Jogsal)
s ¥go dac
= 2
2= E =
S|§ g5
- O E E
2 E = o
r—a k=
— H
: 1 i =y —
‘. -u-unu:".:::.:':-':.‘:-:-:.:-_-:f;_. = E E
.‘ '-Ilu.“.| E =
1 mol TR 6.02 x 1023 particles
number of grams 1 mol
1 mol

number of grams
1 mol

6.02 x 1023 particles

@5‘,.“ :;m'h’_g.q N W)



What is the central unit of conversions between mass and Al Colasenlly ZREH e e Blganll 3 20650 saagll L

particles (atoms, ions, or molecules) In the figure below?
LY ER I R Y (CPE TS A RPN P

00 2 108 parntes
= 1 mal =
ui;;u:pl}m &
Ao Ciegnd
Representative particales
Learning Outcomes Covered |
o CHM.5.3.01.003
d.
Particles Clesall se

L
1 '
' 1
b.} '
: Moles CHfgall s :
' 1
' 1
' 1
P S T T TR R ——— 4
C.
Atoms Sl aae
d.
Grams Cilalmll a2




How many carben tetrachloride (CCly) molecules are Bagagall OOl a2 a0 i)y il s2e s

in 307.6 g of CCI,? fCCl 30769 4
Avogadre’s number = 6.02 x 10% ¢ 6,02 % 1053 = 5ol e
molar mass of CCl, = 153.8 g/mol 153.8 g/mol =CCl, J & palit kgl

Learning Outcomes Covered

o CHM.5.3.01.004

3.01 x 10?3

1.20 x 1024

e o o

6.02 x 1023

1.82 x 102%4



Which of the following represents one mole of copper? € ulaill e dal g J g i L Lee

Learning Outcomes Covered

o CHM.53.01.002

d.
6.02x102® atoms oAl (< 6.02%1 F
b.}
‘Equals the atomic number of copper oaladll 5 3 2l 5y
C. |
The mass of 1 g copper il el g
d

" The number of copper atoms in 1 g of pure copper o ladll e 1g (8 82 g galdl sl 2 pa




Using the part of periodic table of elements below, iolidl paliall g 5 pall Jgandl & 3o Lasiik
What is the molar mass of sodium hydroxide TNAOH ¢ g2 pall LS g jod S jel A al] TS0 Le
compound NaOH?

HYDROGEN P HELIUM
: Part of the Periodic Table 5
H gosll Jgaall feeda He
1.00 4.00
LTHIUM | BERYLLIUM | BORON | CARBON | NITROGEN | OXYGEN | FUORINE NEON
3 4 2 ] 7 8 3 10
Li Be B C N o) F Ne
6.54 2.01 10.81 12.01 14.00 16.00 13.00 20.18
SoDiunA MAGMESIUM | ALUMINURA SILICOM PHOSPHCRUS SULFUR CHLORIME ARGOMN
11 1z 13 14 13 16 17 18
Na Mg Al Si P S cl Ar

Learning Outcomes Covered

o CHM.5.3.01.004

a.!
40 g/moal
b.
80 g/mol
C.
19 g/mol
d.

60 g/mal



How many moles of iron atoms Fe are present in 832 gall Fe woall < 3 e Y ga oS

111.69 g of Fe? ‘Fe o 111.69g 2
( Molar mass of iron =55.85 g/mol) (55.85 g/mol = waall 4 o) Akl

Learning Outcomes Covered

o CHM.5.3.01.004

a. 1
I:..:r ------------------------------------------------------------------------------ 'i
i 2 ;
C. 3
d.
4




How many Zn atoms in 2.0 mol of Zn element? fZNn paie 2.0 Mol Jagsd Zn o o L

( Avogadro’s number = 6.02x1023) (6.02 X 1023) = 53l 2xc)

Learning Outcomes Covered

o CHM.5.3.01.003

3.01x1023

3.61x102

2.40x1024



What is the correct conversion factor for i F bl Jess 3l agusll Ciin ff omiall (o garll Jalak L
describing the arrow with the letter F in the ol Jalas llt
chart below?

L |

[ HP, [ O T, PP
Mdf'én atoms or ions

Learning Outcomes Covered

o CHM.53.01.003

a.!
: 1 mol atom or ions csl 188 0ee1
i 1mol compound B i gad
b.
1mol compound € 3o a1
1 mol atom or ions asd sie st
C.
1 mol Jsel

number of grams i) yall dae



The mass in grams of one mole of any pure ... il i yeaie Y il ally sal gl J gadi dli€
substance iscalled ..................

Learning Outcomes Covered

o CHM.5.3.01.003

PSP L L . L L LS. O L . PP L L O, PO L L L . .
a.E E
i the molar mass ad gl
: i
b.
the gram mass Al " LS
C.
the percent by mass ALSI, 458 ™ Lot
d.
the molecule’'s mass e AlS




How many moles of oxygen atoms are present 1.00 mol 2325

in 1.00 mol of diphosphorus pentoxide P20s? ‘P20s

Learning Outcomes Covered

o CHM.5.3.01.004

i 1

& T
i 5

) 10

d.



What is the mass of 0.5 mol of Ca(OH)z? ¢ Ca(OH)z &= Js=0.5 A€ L

(Molar mass of Ca(OH)2= 74.10 g/mol)

(74.10 g/mol = Ca(OH)p - 44 !l Alsll )

Learning Outcomes Covered

o CHM.5.3.01.004

185.25g



How many formula units of AgNO; are there e 0.75 MOl 3 5asapad AGNO; Sipall Siany 22 o8

in 0.75 mol of AgNQ,7 ? AgNO;

Avogadro’s number = 6.02 x 10% 6.02 % 107 = gpladl 2

dagiyall dgaglaill Ol yell

CHM.5.3.01.004 o

4.5 x 10

4.5 x 10*

9.0 x 10%

9.0 x 10%




A sample of calcium sulfate Ca50, has a mass of ¥lgi Yaa K B84 g LN CaS0, ppuliSl il e A

#84 9. How many moles is in it?

Ca = 40 g/mol S = 32 g/mol

O = 16 g/mol

dngyall dedaill Sl yaall |

CHM.5.3.01.003 o

8.0

b
3.8
9.0

T T |
=%



Whal is the number of mole ratios you can write for $ A0 Jelall LS Sy A 35l el 2ae WS

the following chemical reaction?

Cu + 2H380, — CuSO,4 + 803 + 2Hs0

- dagiyel] dreglsill Slsyieall

CHM.5.3.01.011 o

]
3]

o




What s the correct ascending order of the following el 2o s L) Sliall mnadl) el il
samples according to the number of moles from the PV ) sl

smallest to the largest?

375 ¢ 107 atoms Zn - 3.65 x10* molecules CeHy,05 - 18.8 mol Fe

Avogadro’s number = 6.02 x 107 6.02 x 107 = 4plagdl axe

dbayall dgaulaill Oloyell

CHM.5.3.01.004 o

{The smallest) 3.75 = 10* atoms Zn —— 18.8 mol Fe ——3.65 »10™ molecules CyH,:04(The largest)

(Y1) 3.65 «10* molecules CgH;;05 «—— 18.8 mol Fe <« 3.75 » 10** atoms Zn (_asl)

(The smallest) 18.8 mol Fe » 3,75 x 107 atoms Zn —— 3.65 x10° molecules CsH,,0¢(The largest)

(#59) 3.65 x10** molecules C;H;;0; «—— 3.75 = 10*f atoms Zn 18.8 mol Fe ( a=Yi)



(The smallest) 18.8 mol Fe ——* 3.635 x10* molecules C4H1,0, — 3.75 % 10™ atoms Zn (The largest)

(8Y1) 3.75 = 10%° atoms Zn «—— 3.65 x10°* molecules C¢H;:0; < 18.8 mol Fe (_as¥l)

R R A -y

(The smallesty 3.65 x10° molecules CoH;.0, —— 18.8 mol Fe ——— 3.75 x 10* atoms Zn (The largest)

(8Y1) 3.75 x 10*° atoms Zn «—— 18.8 mol Fe «+——3.65 =10°! molecules C,H,,0; ( sl

+C



A party balloon contains 9.60 x 10! helium atoms.

Whal is the mass of helium in grams?

sl e 539,60 X102 Ll sl sl sia

Avogadro’s number - 6.02 x 10%

6.02 % 10% = 4 gl sse

molar mass of He = 4.00 g/mol

4.00 gjmol = »adell 24 k<)

1O -

dbaipell dsenlaidll Ol yall

63.8

85.7

filalially pgilugl) AES Lo

CHM.5.3.01.004 o

«d

Ic



What is the mass of 4.50 x 10° mol of cobalt Co? 1C0 Ll 0 4.50 X107 mol 42 L

58.933 g/mol = i€l idodl ALY
molar mass Co = 58.933 g/mol / Ul s

dagipel| dueudsill Olsyiall

CHM.5.3.01.004 o




What is the number of moles of sulfate ions present in o 3.750 mol & oo <) il Ve 200 WS

5
3.750 mol of Iron(lll) sulfate Fe,(SO,);? SFey(SO4)s (Ill)siadl iy

dauipel] dgaplaill Ol yrall

CHM.5.3.01.004 o

™
N
-
o,
B o o o o o o o ol

15.00

18.75




Lithium reacts spontaneously with bromine fo produce &l ks gl ey 72 gl o L il el
thium bromide. as the following balanced equation: . 75.0 § 5 a4l (e T5.0 g ool s 4000 &y d
1175.0 g of fithium and 75.0 g of bromine are present ¢ cail Jelid) e Ll AH Lo Jli 530
al the beginning of the reaction. Whal is the excess

mass of the excess reactant?

Wi + Bran —» LiBria

dbuiyell dragsill Oz yall

CHM.5.3.01.012 o

45.6 g



What is the mass of CaCl, produced from the reaction 175 g J=\& e 228 A CACH p5adlSh 248 308 L

of 175 g of CaCO.? CACO; agalSll cHigs S S

CaCOs(s) + 2HCItag) — CaCly(ag) + H,0() + COy(g)
Molar Mass CaCQ, - 100 g/mal 100 gfmol - CaCO; &zl E8H

Molar Mass CaCl, = 110.9 g/mol 110.9 gfmol = CaCl, 3.0 16<h
dngiyall dragleill Sl ol

CHM.5.3.01.012 o

194 g

77.049

3159

388 ¢



Zine reacts with jodine in a synthesis reaction 23000 2alell b s el v"' daall pa fpalall deliy
as the following equation: If 3.50 mol of Zinc Coill 323l Le L 2N (paa AN i 3050 miol aaAs 00
is used. What is theorelical yield?

Zﬂ(s] + |g;s; — Zl'llz(gp

Maolar Mass of Znl; = 319 g/mol Znl;= 319 g/mol - 305l AEE)

dagiyell dgaglaill Oz ykall

CHM.5.3.01.033 o

889 g

A0

.C



The reaction between solid sodium and iron{lll) oxide

is ong in a series of reaclions that inflates an

Al s () gmadl 2aealy beall g guall fo ol oy

ol A olegll S A ) g2 Al Blalill

automaobile airbag: IF 200.0 9 of Na and 200.0 9

15 3 Fe,0; 5e 200 0 5 Na e 200.0 g Lo 1

of Fe,Q; are used in this reaction. What is the

mass of solid iron produced?

Yol leall aall A8 L L el

ENa{S:I H FEZOS‘S} e 3”320'3} +:Fe(3}

Na = 23.00 g/mol

Fe = 56.00 g/mol

Fe,0, = 160 g/mol

162.0g

81.00 g

75.00 g

dbhiyell draglaill Ol el

CHM.53.01.013 o

N RN NN N N NN N R NS R

.a
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